
 
 

 
 

 

  

 
 

 
 

 
 

(1
) 

 
 

   
 

(2
) 

 
 

 
 

(3
) 

 
 

 
 

(4
) 

 
 

 
 

   
   

   
(1

) 
 

 
   

 
(2

) 
 

   
 

 
(3

) 
 

 
 

  
 

(4
) 

 
 

 
 

 
 

 



 

  

 

7.
3

7.
388.
6

8.
4

4 

 

1
0
0

1
5
0

1
5
0  

  



 
 

 
 

 
 

 
 

24
(2

01
2

)1
1

 
 

 
10

,3
0,

50
 

.

0.
72

0.
78

 

6.
6(

M
w

)

BP
T

[
]

30
00

0

[
]

81
0

30
[%

]
0

50
[%

]
0

7.
6(

M
w

)

BP
T

[
]

13
00

[
]

46
0

30
[%

]
0

50
[%

]
0

 
 

20
10

 

 



 
 

 
 

 M
8.

4
 

 

 
23

 
 

 
 

 
 



2
 

 
M

7.
7

 

 

(
)

 

 
 

 
 
 
 

 
 

 
 
 
 

 
 

 
 

 



 
 

 

33
33
..22

  
11
33
55
..99

  
11
00

  
 

  
  

 

 
 

  

  

  

 



 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
T.

P+
m

 
 

 
 

 
 

 

8
.6

 
 

 

7
0

1 2
8
5

1
 

 
 

0
.5

1
.9

1
.9

 

1
.7

3
.1

2
.9

 

 

 M
8
.6

 



 

 

66
  

 
 

 
 

 

 



17
 

  
  

  
 

99
00

  
 

 

  
((

22
  

 
  

 
 

 
  

 
  

 
 

11
00

  

 
 

 
 

 
   

   
 
  

 

 
 

  
 

  

  
 

 (
) 

  (
 

  (
 

 
 

  
 

  (
 

  (
 

 
  

 

  

 

 

  

 
  



  

 

 


